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Spring 2023 – HW 3
_______________________________________________________________________
Please answer all questions.  Then answer either 3 OR 4.  Any work you do to arrive at an answer must be shown.  All graphs must be completely labeled.  
1.
(35) In the mid-1980s, the U.S. imposed tariffs on Japanese laptops in retaliation for the dumping of computer chips in the U.S. market.  Suppose the world price of a standard laptop was $1,000 before the imposition of the tariff.  After the tariff was imposed, the price rose to $1,500 in the U.S. market.  Originally, 4 million laptops per year were sold with imports taking 50% of the market.  After the tariff, total demand dropped to 3 million units, with imports accounting for only 500,000 units.  

a.
Graphically illustrate the above, and calculate (numerically):



-The loss in consumer surplus



-The gain in producer surplus



-The tariff revenue



-The dead-weight loss

b.
Give a major reason why tariffs are preferred to quotas by the imposing country.
2.
(30) In the 1990s, the U.S. sued the European Union in the GATT over its subsidization of agricultural products produced in its former colonies.  The U.S. was allowed to “punish” the EU through trade restrictions.  Suppose the U.S. imposed a quota on imported chocolate. Prior to the quota, the U.S. market for chocolate was 30 million pounds.  The average price that prevailed was $4.00 per pound.  Domestic producers sold 10 million pounds of chocolate, with imports fulfilling the rest of demand.  Suppose the quota was set equal to 10 million pounds.  Prices were projected to rise to $4.00/pound, with total demand declining to 25 million pounds.


a.
Graphically illustrate and calculate (numerically)



-The loss in consumer surplus


-The gain in producer surplus (U.S. firms)



-The transfer to foreign producers



-The dead-weight loss

b.
Explain why this outcome is less desirable than that arising from tariffs, both from the perspective of the U.S. (2 reasons) and the WTO’s perspective.
